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Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

[1] 528 +9 = [2] 625 +5 = [3] 658 + 4 =
[4] 681 + 6 = [5] 757 +5 = [6] 810 + 5 =
[7] 734 +5 = [8] 800 + 3 = [9] 916 + 3 =
[10] 570 + 4 = [11] 615 + 4 = [12] 643 + 4 =
[13] 706 + 12 = [14] 755 + 4 = [15] 797 + 6 =

[16] 981 + 10

[17] 1029 = 5 = [18] 1100 + 5 =



ANSWERS

Division
Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 2 d.p.

[1] 528 +9 =
[4] 681+ 6 =
[71 734 +5 =
[10] 570 + 4 =
[13] 706 + 12
[16] 981 + 10

58.67

113.50

146.80

142.50

58.83

98.10

[2] 625 +5 =

125.00
[5] 757 +5 =

151.40
[8] 800 + 3 =

266.67
[11] 615 + 4 =

153.75
[14] 755 + 4 =

188.75
[17] 1029 = 5 =

205.80

[3] 658 + 4 =

164.50
[6] 810 + 5 =

162.00
[9] 916 + 3 =

305.33
[12] 643 + 4 =

160.75
[15] 797 + 6 =

132.83
[18] 1100 + 5 =

220.00



